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/‘%—6‘2) GIVEN, TRAPEZOIPAL CHAMNEL
Z=z 0,75 '
Q=080 L5
h = O ol%
b = 3.00 Ffr
’ y (ft) A (%) V (ft/s) T (ft) Y, (ft) Nr E (ft)
0.05 0.152 5.267 13.08 0.049 4.177 0481 |Gven ¥
’ 0.1 0.308 2.602 3.15 0.098 1.467 0.205 |
| 0.1288 0.399 2.006 3.19 0.125 1.000 0.191 | CRITICAL DT
0.20 0.630 1.270 3.30 0.191 0.512 0.225
0.25 0.797 1.004 3.38 0.236 0.364 0.266
0.30 0.968 0.827 3.45 0.280 0.275 0311
0.40 1.320 0.606 3.60 0.367 0.176 0.406
0.4770 1.602 0.499 3.72 0.431 0.134 0.481 | ALTERrATIVE DFTH
0.50 1.688 0.474 3.75 0.450 0.125 0.503
0.60 2.070 0.386 3.90 0.531 0.093 0.602
0.70 2.468 0.324 4.05 0.609 0.073 0.702
0.80 2.880 0.278 420 0.686 0.059 0.801
0.90 3.308 0.242 435 0.760 0.049 0.901
1.00 3.750 0.213 4.50 0.833 0.041 1.001
1.065 4.046 0.198 4.60 0.880 0.037 1.066
1.10 4208 0.190 4.65 0.905 0.035 1.101
1.20 4.680 0.171 4.80 0.975 0.031 1.200
1.30 5.168 0.155 4.95 1.044 0.027 1.300
1.40 5.670 0.141 5.10 1.112 0.024 1.400
1.50 6.188 0.129 5.25 1.179 0.021 1.500
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Force ow VAwE = pPA

A= (—-————-—-0'5;5 *”)ZJ = 7,088 x 10

P=h :7:.,%@’)( [.80 1 = 17,66 kN/ns?
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